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NEW QUESTION 1
Your customer is hiring an employee and assigning a line manager to the newly hired employee. What group of people can be selected in the instance as an
employee’s line manager?

A. The line manager search is based on the public person security access.

B. The line manager search is based on the job in which the employee is hired; only the job grade higher than the employee job will appear in thislist.
C. The line manager search is based on the position hierarch

D. Therefore, if an employee is hired in a particular position, the search will populate employees with a higher position than the newly hired employee.
E. All the employees whose employment record has the “Working as Manager” check box marked as “Yes” can appear in the drop-down list.

Answer: C

NEW QUESTION 2
Which values on the Enterprise HCM Information task can you override on the Manage Legal Employer information task?

A. work day information, person number generation method, employment model,position synchronization configuration, worker number generation
B. work day information, user account generation, employment model, position synchronization configuration, worker number generation

C. work day information, person number generation method,employment model, position synchronization configuration, worker number generation
D. work day information, employment model, position synchronization configuration, worker numbergeneration

Answer: A

NEW QUESTION 3

An HRrepresentative enters employee details in the application as part of the hiring process. On the Review page, the HR representative notices that Person
Number does not show any number, but indicates “Generated Automatically”.

Identify the option that relates to this intended behavior.

A. Person Number at the Enterprise Level is set to Manual.

B. Person Number at the Enterprise Level is set to Automatic before submission.
C. Person Number at the Enterprise Level is set to Automatic after final save.

D. Worker Number at the Enterprise Level is set to Manual.

Answer: C

NEW QUESTION 4
An organization is running a fitness program. They want to identify a FitnessRepresentative who will be responsible for a group of people in the organization. How
should you set this up?

A. Create a new job Fitness Representative and associate that to the person.
B. Define the person’s area of responsibility to reflect Fitness Representative.
C. Deploy a Descriptive Flexfield to capture the information.

D. Deploy a Key Flexfield to capture the information.

Answer: B

NEW QUESTION 5
You are part of a new implementation and have the seeded HR Specialist role. You are able to find all the workers in Person Gallery, but not able to view a single
worker on the Person Management page. Identify two reasons for this. (Choose two.)

A. The Person Security Profile in the data role, which is attached to the seeded HR Specialist application role, does not allow the person access to data.
B. The Person Profileis not created for any of the employees in the new instance.

C. The Refresh Manager Hierarchy process is not run in the instance.

D. The seeded HR Specialist role does not have access to hire the worker in the instance.

E. The Public Person Security Profile is set up as View All Workers in the data role, which is attached to the seeded HR Specialist application role.

Answer: AD

NEW QUESTION 6
Identify the correct option regarding the status of a person who has a Non-Worker work relationship (for example, an externaltrainer) with a legal employer, and
applies for employment with the same legal employer and gets hired as an employee.

A. The person retains the Non-Worker work relationship with the legal employer.

B. The person has only an Employee workrelationship with the legal employer.

C. The person no longer has a Non-Worker work relationship and has only an Employee work relationship with the legal employer.
D. The person has both Non-Worker and Employee work relationship with the legal employer.

Answer: D

NEW QUESTION 7

An employee’s job description is “Recruiter” as of 01-Jan-2015. This job was updated in the system to “Consultant” on 01-Feb-2015. The 01-Feb-2015
assignment record is the latest effective dated employment record in the system. On 01-Mar-2015, the HR specialist wants to view this employee’s previous
employment details and searches for them on the Person Management page. The HR specialist enters the effective as-of date value as 31-Jan-2015 with the
search keyword “Recruiter” because the employee was workingas a recruiter on 31st Jan 2015. The search returns no rows.

What is causing this?
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A. The Person Management page search does not support Job attribute keywords.

B. The Update Person Search Keyword process has associated the effective dates with thejob attributes in the keyword record resulting in search discrepancies.
C. The Update Person Search keyword process has failed on 31-Jan-2015 but ran successfully the next day.

D. The Person Management page search does not support date-effective keywords.

E. The Update Person Search Keyword process has updated the latest effective dated job attribute in the keyword record.

F. The Update Person Search keyword process has failed on 01-Mar-2015 but ran successfully the previous day.

Answer: E

NEW QUESTION 8
As an HR manager in your organization, you want to categorize the hiring process as part-time hiring and full-time hiring. Identify the correct statementto meet this
requirement.

A. Create two new actions: hire part-time employee and hire full-time employee.

B. Create two new action types: hire part-time employee and hire full-time employee.

C. Create two new action types and associate them with theexisting action, Hire.

D. Create two new action and associate them with the existing action type, Hire an Employee.
E. Create two new actions and new action reasons and associate them with each other.

Answer: D

NEW QUESTION 9
You want to modify the look and behavior of the application through profile options. When you try to modify it, you are unable to perform the action. Which
statement is true regarding profile options?

A. You cannot modify the constituents of the existing profile options without saving them after creation.

B. You can modify the constituents of the existing profile options, but your manager must enable them for modification.

C. You can modify the constituents of the existing profile options, but the system administrator must enable them for modification.
D. You can modify the constituents of the existing profile options, but you must enable them for modification.

Answer: C

NEW QUESTION 10
Your company wants to track previous employment information for workers, including employer name, dates of employment, and job description. Which action
should you perform?

A. Create a free-form content type and a new content item.
B. Create a new content type andcontent item.

C. Use a seeded content type and a new content item.

D. Create a new content type but a seeded content item.
E. Create a free-form content type without a content item.

Answer: E

NEW QUESTION 10
A user has reported that one of his or her saved transactions was not available anymore from the transaction page. What is the reason for this behavior?

A. The saved transaction was rejected by the approval authority.

B. An identical transaction that was initiated for the person by another user was applied to the database.

C. The saved transaction was future date

D. The application displays only those transactions where the transaction date is less than or equal to system date.
E. The saved transaction was withdrawn by HR.

Answer: B

NEW QUESTION 12
Which three options define Enterprise Structures Configurator (ESC)? (Choose three.)

A. Itis an interview-based tool thatguides through the process of setting up a basic enterprise structure.

B. The tool creates a structure of divisions, legal entities, business units and reference data sets.

C. The tool creates a structure of divisions that may then be manipulated by the administrator.

D. After defining the enterprise structure and the job / position structures, the administrator can review them, make any necessary changes and then load / rollback
the final configuration.

E. The tool creates a structure of divisions, legal entities, business units and departments.

Answer: ABD

NEW QUESTION 14

An IT company’s consulting department based in Bangalore goes for two team outing events every year. However, the support department, also based in
Bangalore, goes for four team outing events every year. All employees in these departments go for the respective team outing events.

How should you define the calendar events?

A. Use Geographic Hierarchy as the Hierarchy type for the calendar event.

B. Use Line Manager Hierarchy as the Hierarchy type for the calendar event.

C. Use Absence Approval Hierarchy as the Hierarchy type for the calendar event.
D. Use Organization Hierarchy as the Hierarchy type for the calendar event.

E. Use Project Manager Hierarchy as the Hierarchy type for the calendar event.
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Answer: D

NEW QUESTION 16
For which three customer situations should you implement positions? (Choose three.)

A. For customers with very fluidorganization structures.

B. If a successor is hired typically into a similar role.

C. For industries with fixed organization structures, such as Public Sector, Higher Education, and Healthcare
D. For industries with high turnover, such as Retail.

Answer: ACD

NEW QUESTION 21

Action Type identifies the type of business process associated with an action and determines what happens when you select that Action. As part of implementing
Oracle Global Human Resources Cloud, Action Types are associated with Actions.

Which two statements are correct regarding Action types? (Choose two.)

A. Additional Action types can be created.

B. An Action type cannot be associated withuser-defined actions.
C. Action types are seeded.

D. Every Action type can have multiple actions within it.

E. If Termination is an action, Normal Termination is an action type.

Answer: CD

NEW QUESTION 26
When configuring a checklist application task what value must be select to ensure you will only be able to select from a list of employee tasks verses manager
tasks?

A. Ensure the owner field is set to employee.

B. Ensure the eligibility profile linkedto the task contains criteria the include only active employees.
C. Ensure the owner and performer are both set to employee.

D. Ensure the performer field is set to employee.

Answer: C

NEW QUESTION 27
An employee starts employment with her company in France next month. She was employed by the enterprise in the United States for several years, but resigned
two years ago. ldentify the correct statement about the person number for the employee.

A. The employee has a person record with the enterprise so she will continue with the same person number.

B. The employee gets a new person number for her employment in France if the legal employer sequence is used for person number.
C. The employee continues with her old person number if global sequence is used for person number.

D. The employee’s new person number will be her previous number suffixed by -1.

Answer: A

NEW QUESTION 32

A static approval group named “Trio” comprises three members — Jacob, Susan, and Dia (in the mentioned order). For all the Manage Employment transactions,
the approval should berouted to the “Trio” approval group. When the assignment change transaction is submitted, what is the order in which these members
receive the assignment change approval notification?

A. System decides the approval route by randomly selecting approvers who are a part of the approval group.
B. First Approver — Dia, Second Approver — Susan, Third Approval — Jacob

C. All three get the notification at the same time.

D. First Approver — Jacob, Second Approver — Susan, Third Approver — Dia

E. Theapproval is routed alphabetically.

Answer: D

NEW QUESTION 36

An HR Representative enters theemployee details in the application as part of hiring process. In the Roles tab, the HR Representative sees that an appropriate
data role is already available with the provisioning method of Automatic. The employee is required to be associated with an additional role of Compensation
Specialist. However, on clicking the Add Role button available in the same page the HR Representative is unable to retrieve any roles which can be added.
Identify the cause of this.

A. The HR Representative does not havethe appropriate role at add the role.

B. Appropriate role mapping rules are not defined for the Data role with Self-requestable check box checked.
C. Appropriate role mapping rules are not defined for the Data role with Requestable check box checked.

D. Appropriate role mapping rules are not defined for the Data role with Autoprovision check box checked.
Answer: C

NEW QUESTION 37
A human resource specialist creates a checklist template with Category Offboarding and Action Termination. An employee retires from the organization and hence
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his work relationship is terminated with the legal employer. However, there is no Offboarding checklist allocated to the retired employee in the Manage Allocated
Checklist region.
What is the cause for this?

A. The Allocate Checklist seeded process must be run to automatically allocate the checklist to the person.

B. Action Reasons were not defined in the checklist.

C. The Action associated with the checklist does not match the Action selected during the termination process.
D. Action Type was not defined for the checklist.

Answer: A

NEW QUESTION 42
Your customer wants to know how many employees are leaving the organization on their own. Identify the correct sequence of steps that you need to perform to
meet his requirement.

A. Create a new action > Create a new reason and use it during termination.

B. Create a new action type > Create a hew action > Create a new action reason and use it during termination.

C. Create a new action reason and associate it with the available action typ

D. Use it during termination.

E. Create a new action type > Create a new action reason and use it during termination.

F. Create a new action > Associate it with anexisting action type > Create a new action reason and use it during termination.

Answer: C

NEW QUESTION 43

You hired a female employee on January 1, 2015. This employee got married on June 12, 2015. You received a request from the employee on July 11, 2015 to
change her last name from the date of her marriage. You changed the last name of theemployee as requested on the same day.

What effective start date for this new employee is displayed by the system as of August 15, 20157

A. January 1, 2015
B. June 12, 2015
C. July 11, 2015
D. August 15, 2015

Answer: B

NEW QUESTION 44

A candidate applied for an employment opportunity with a legal employer in the past. The candidate re-applies after some time for an opportunity with a different
legal employer in the same enterprise. While applying the second time, the candidate provides a new national identification value.

Which option does the application use to check if a matching record already exists in the system?

A. The application cannot identify the matchingrecord and there will be two person records available for further processing.

B. The application identifies a match if the first name, the first character of the last name, and date of birth are the same; or if the last name, the first character of
the first name, and date of birth are the same.

C. Because the national identifier has changed, the system cannot identify the matching record.

D. The application searches for the availability of date of birth and middle name to identify the matching record.

Answer: B

NEW QUESTION 47
Which Approval Types are supported while configuring the Managing Approval Rules: Promote transaction?

A. Application Role, Approval Groups, Management Hierarchy, Position Hierarchy, Representative, Self Auto Approve, User
B. Application Role, Approval Groups, Management Hierarchy, Parent Position, Representative, User, Self Auto Approve

C. Enterprise Role, Application Role, Approval Groups, Parent Position, Representative, User, Self Auto Approve

D. Data Role, Application Role, Approval Groups, Management Hierarchy, Position Hierarchy, Self Auto Approve, User

Answer: A

NEW QUESTION 49
As an HR manager in your organization, you want to categorize the hiring process as part-time hiring and full-time hiring.
What is the correct action to take in order to meet this requirement?

A. Create two new actions and associate them with the existing action type, Hire an Employee.
B. Create two new actions: hire part-time employee and hire full-timeemployee.

C. Create two new actions and new action reasons and associate them with each other.

D. Create two new action types: hire part-time employee and hire full-time employee.

E. Create two new action types and associate them with the existing action,Hire.

Answer: A

NEW QUESTION 53

Which task in theSetup and Maintenance work area generates position codes automatically?
A. Manage Position Codes

B. Manage Legal Entity HCM Information
C. Manage Positions
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D. Manage Position Synchronization
E. Manage Enterprise HCM Information

Answer: B

NEW QUESTION 54

Identify the three delivered free-form content types of Profile Management.
A. Career Preferences

B. Potential

C. Accomplishments

D. Honors and Awards

E. Languages

Answer: CDE

NEW QUESTION 58
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